?'.D‘f"f ecrmrmmer, . : , /. ) auppose that a farmer has no more than 50 acres for plaming - .
: : ‘ ' T -alfalfa and soy beans and has a maximum of $1200 to spend on the I :
_pianting. It costs $20 per acre to plant alfalfa and-$30 per acre to plam
‘ o , . | soy beans. The profit per acre for alfalfa is $250 and for soy beans is f
. o , T _ . 5300. If A is the number of acres of alfalfi and S is the number of.acres
' : of soy beans that the farmer plants, the System for this problem is:

i
A+S§S= 50 i
20A+3055!200 ' I }
A= 0
. Sz 0.
A Match each mequa]uy in the system with its meaping.
a, A+ S=50 AD Thcnumberofacresofsoyheans 1) .
‘b. 204 + 305 = I"OO -~ is not negative.
c. A=0 - ¢ii) The total number of acres st_
d. §=0 . . not more than 50, -
: S (iii) The cost of planting st be B
R _ o ‘ no more than $1200. .
- ’ " {iv) The least number of acres of
- alfalfa is zero. S C.

B Graph the feasnble l‘E“IOH Let A be the independent vanable.

{. a. Find the vemce: of (he fe:mble rcﬂ:on. -
?D“' b. The profit formuia is P = "SOA + 3005 At whlch vertcx is P

| max:mlzledo LD‘%\ ll 000
maAL e (36,20) 13,500
o CSo 03 l‘2. TOO

—e

"0 w0 B

12 A iandscapmn contrctor uses a combm.mon of two brands of femhz—
-ers. each containing different amounts of phmpha:es and nitrates. as -
shown in'the table bélow. A’ certain lavn raqunres a mixture of at least
24 1b of phosphates and at least 16 Ib of nitrates. .

Phosphate ,conient Nitrate content

o ' per package per package

BrandA |- 4B | | 2B =
Brand B . .6 ‘ 51b

If x is the nurnber of packagcs of Brand A and v is the number of
packages of Brand B, then the conditions of the problem can be mod-.
eled by the following systcm of mequalmes' ' ;
x=0
yz0
4+ Gy =24
12x + Sv Z 16

- 1 2 3 & =k g q . 1 a. Graph the feasible region. * - .
l' 1 X } J} il i % J_ o b. !fapackageofBrandAcostsSﬁQQandapackagcofBrandB

costs $17.99, then the cost C is found by the equation C =
" 6.99x + 17.99y. Which pair {x. ¥) in the feasible region gives the

G‘j \:Pa@—k EPJ ):31 \ C(%\Q)- 5. qg |

3@3 El Lomlf* (§5) =559

g-
P




H = pf&m_‘(!.vgef C\DD |

; 3 -P=po'sm.‘\-o
' . N | C - JH +' os-lP
Do |55 '

"*(3 3. 8*'7'53 = .5237
(3‘70 90 =, 5.7; 3

49, ) .
(6.25,0) = . 6278

kK

o

3. Some parents shopping for their famlly want to know how much hamburger and how many
notatoes to buy. From a food-value table they find that one ounce of hamburger has 0.8 mg or iron,
10 units of vitamins A and 6.5 grams of protein. One medium potato ias 1.1 mg of iron, 0 units of -
vitamin A and 4 grams of protein. For this meal the parents want to serve at least 5 mg of iron, 30

- units of vitamin A and 35 grams of protein. One potato costs $0.05 and 1 ounce of hamburger costs
$0.11. The parents want to be economical {minimize their costs), yet meet daily requirements. They
need a program for the quantity of hamburger and potatoes to buy for the family. Demde what they -

should do. . .
_von VrH* prn'ldn  BH & \ \P
Havbgier| .5 | 1O (., S

. o .
R ———— , @ - L{P"
2 23 235 G’SH 35
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